2 | 3 | 4 5 | 6 7 8 9 | 10 | 11 | 12
A
aggiungere questi
due fori dall'altra
parte per farlo 60
simmetrico! BB(1:1)
>
M3x0.5 - 6H n°12 30
M4x0.7 - 6GHV 14 %0 20 M5x0.8 - 6H 230 23 _RY
through holes o
/ @4.92 n°8 15 MlZyéS _6H \<
B
\ / / 1
= i | LY ¥
O - = - —
: - o o, ot 7
~ d -1
T+ -
_ = 2| = B
22 g o0 | |
3 4 -
—dh N O N — < % R o < /
o o T/ = ; lc
71 © -
* aluminum on aluminum does
_+_ _+_ ~ not slide, 399 and 510 change ¢13
e\ to brass, check the mass
y (o] —+— —+— o # B o B_‘I reduce height if necessary 13
o) i . %) o) Ne)
— | | | — | on (e@) —
i
-0,200
18 \ 36 2 -0.300
13 90 6 36 M5x0.8 - 6H n°4 C-C(1:1
- X n . ( )
30
M5x0.8 - 6H 14,5 D
87 87 __I ]
C
/390 R9
7 D15
/ . N |
" —¢— —©— —¥— — \o]r h T T I
2 BRI > :
50 /
+0,100 / \
60 _0.000 T
A-a(l:l) 1 X 45° | S 2
|
_ e E
W - | \/
i .
M5x0.8 - 6H 48 /
f—j * T = i
L - © 1T | mﬁ:}?{: 1 X45 _
@13
110
60 C —-I 13
13 M4x0.7 - 6H 10 R6 6 35
22 XV. R6 @6
— F
N T1 / T1 ] © J) %
- b & . s o 0 5
- o+ l s . > —
(@\]
= + || ¢ —€E- 3& °©|° Ao 0
. -
3? —+— | —+— f M5x0.8 - 6H | updated 10-04-12
T+ 34 _+__+_ m o ref. note date
= < i C ) I < — _ _ — modifications
(@\] — (@\]
s _+__+_ _+__+_ ° °
| o0 |
4 o 4 — o 510 1 EN 6082 1:1] |G
i i i @30 399 1 EN 6082 1:1
—# L o J #— ¢ O 391 | 1 EN 6082 1:4
- "l || 390 1 EN 6082 1:4
] ﬁ q ) o o ‘U ref. | pieces material scale
/_|| Ll = = [ 1 o GENERAL TOLERANCE mH R
\ R6 TOLERANCE SYSTEM: ISO 2768-2 CLASS H-K-L
@6 n°8 13 TR, De Salvo
+0,150 <) PROMEC ——
00 0,000 E 60 ——I§<— E@ :@‘ di Gennaro Gianni G. Gennaro
BIENTINA (PISA)-ITALIA PATE 10-01-12 S 1:1
210 °
' LCGT-SAS C P LCGT.10205-01
) e e H
BOTTOM PLATE-Gr.12 PR e 10201 Al
2 | 3 | 4 5 | 6 ] 8 9 | 10 | 11 | 12



ric
Text Box
aluminum on aluminum does not slide,  399 and 510 change to  brass, check the mass
reduce height if necessary

ric
Callout
aggiungere questi due fori dall'altra parte per farlo simmetrico!




